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Solution for exercise 2.1.1 in Pitman 1

Question a) We use the formula for the number of combinations - appendix 1,
page 512 (the binomial coefficient)(
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= 35?

Question b) The probability in question is given by the binomial distribution,
see e.g. page 81.
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67
= 0.0156

We consider a sequence of 7 numbers such as this
one:

0, 0, 1, 1, 0, 1, 1

where we are only allowed to use 0 or 1. Now fo-
cusing on the 1’s, the total number of ways that
we can place k 1’s in a sequence of 7 numbers
can be calculated using the binomial coefficient(
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where n = 7 is the length of the sequence, and k
is the number of 1’s that we pick.

Binomial Distribution:
Given n trials with probability of success p, the
probability of getting exactly k successes is

P (k successes) =
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)
pk(1 − p)n−k

where
(
n
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)
is the binomial coefficient (see e.g.

page 512).

In this case, the number of trials are n = 7, prob-
ability of success is p = 1/6, and we are looking
for exactly k = 4 successes. Thus,
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)
pk(1 − p)n−k =

P (4 sixes) =
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(1/6)4(5/6)7−4
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